
 

 

 

 

 

 

 

 

 

 

 

                                          BRP LINQ ADAPTOR PLATE FOR POLARIS SNOWMOBILES 

 

 

 

 

 

 

Attach the BRP LINQ ASSEMBLIES to the base plate in the needed places using the mounting hardware that came 

with the LINQ BASE ASSEMBLY. 

Depending on your accessory you may use just one set of the BRP LINQ brackets in either one of the three position. 

On the Polaris snowmobiles you will use the 1/4" milled carriage bolts to slide into the tunnel rails. On older 

models you will align base plate up in desired position and use the base plate as a template to drill through tunnel 

and then use the M6 x 230mm bolt washers and nylock nut to bolt down through the tunnel. Make sure you are 

clearing the cooler plates. 

Place the Base Plate on to the bolts as shown and tighten down using the 1/4" whiz nuts. 

You should be able to use most BRP LINQ product with the adaptor plate. 

 

 

 

QUESTIONS or COMMENTS CALL: 320-964-1616, Monday thru Thursday, 7:00 to 4:30 CST                    INST6019HO 

ITEM PART# QTY. DESCRIPTION

1 6016 1 Base Plate

2 HDW1120-BLK 8 M6-1.0  Nylock Nut

3 HDW1086-BLK 2 M6-1.0 x 20mm Hex Bolt

4 HDW9012-BLK 8 1/4" Flat Washer

5 6019-2 4 Fender Washer

6 6019-3 2 Backing Plate

7 HDW7050 6 1/4" Nylock Nut

8 6019-4 6 1/4"-20 x 3/4 Milled Carriage Bolt

9 6019-5 4 1/8 x 5-1/4" Long Adheisive Gasket

10 HDW9505 2 BRP Linq Base Assembly



 

 

                                                                        BRP LINQ ADAPTOR PLATE FOR ARCTIC CAT  

 

 

Shown on CATALYST chassis for older Arctic Cats you will have to line up the mount plate where you desire to place 

it and drill through for all 8 mounting holes. Make sure you are clearing the cooler plate. 

Depending on the BRP accessory you may use just one of the BRP LINQ brackets in either one of the three 

positions. 

Attach the BRP LINQ ASSEMBLIES to the Base Plate using the hardware that came with the BRP LINQ BASE. 

Remove the Arctic Cat accessory mount brackets and use these holes to first mount the base plate to with the 

black M6 x 20mm bolts going down through the plate and tunnel.  Use the backing plate and nylock nuts to secure 

going on the underside of the tunnel. 

 

There are other holes and hardware to use to secure the base plate down with. You will use the base plate as a 

template and drill through the tunnel and when bolting down use the bolt washer and nylock nut with the washer 

going on the underside with the nut. 

 

You should be able to use most BRP LINQ product with this plate. 

 

 

QUESTIONS or COMMENTS CALL: 320-964-1616, Monday thru Thursday, 7:00 to 4:30                             INST6019HO 


